

May 5, 2023

Paper's purpose is to boost the confidence of students on their journey of learning. When a student's story changes from struggle to success, from self-doubt to self-worth, we win together.





Helping teachers, Helping students

"I feel like Ms Kate really helped me in my narrative so I am really happy with what she told me and I now feel confident with my work. Thank You!"

- 8th Grader at North Boone MS

"She was one of the best tutors I have ever gotten on here, she is polite and so nice and helpful. She answers all questions and is very helpful when it comes to study for a test! So sad it had to come to an end! I feel very confident on my test tomorrow!!"

- 9th Grader at North Boone HS

"thank you for being such a nice and helpful tutor it makes me feel better and it makes my day better to be able to get help from a person like you :) I hope you enjoy the rest of your time today and I really hope you get more happy moments every single day :)"

- 11th Grader at North Boone HS





Reflecting on success



The flexibility of the **Paper Educational Support System (ESS)** provides differentiated support to North Boone CUSD 200 students. If a student needs five minutes of academic support or five hours, if they need their support in another language, Paper is there to support.

This school year, Paper tutors have spent **45,359 minutes** reviewing students' written work, saving North Boone CUSD 200 teachers the equivalent minutes and hours of reviewing student drafts.

Paper tutors have supported North Boone CUSD 200 students and teachers with over **39,027 minutes** of classroom and after school academic support and with a continued partnership that usage will only grow.





Reflecting on success

Making learning more accessible

Many students prefer auditory learning methods when they're absorbing new information or working through problems with a tutor. In light of this, we created Voice Typing, Text Reading and Voice Notes, so that students can put their best foot forward. These tools are particularly helpful for young learners, English-language learners, and students with physical limitations.



Bringing excitement to tough subjects

- Packed with fun visuals and a wide range of math questions, **Paper Missions** is a low-pressure game that lets students practice their math skills and acquire new knowledge—all at their own pace!

Meeting students where they are

 Students can quickly get unlimited support through our Chrome extension, Canvas integration, and our mobile app! By extending our presence beyond our web platform, we're ensuring Paper's 24/7 Educational Support System is available wherever students need it.





What have we accomplished August 1 - April 14



Live Help Sessions: 1,804



Average Session Length: 22 minutes



Live Help Session Time: 39,027 minutes 650 hours





Paper Math Missions 42

Writing Review Center Submissions: 1,508



Essay Review Time: 45,359 minutes 755 hours





Creating future success

Every student deserves equitable access to the academic support that will prepare them for success in school and beyond. Unfortunately, many systemic barriers stand in the way for countless students. That's why Paper's mission is to ensure that every student has access to the resources they need to practice and master skills, receive individualized support across subject areas and prepare for their future in college or a career.



A commitment to literacy

 Literacy skills are foundational for lifelong success.
This Spring, we're launching Paper Reading - a brand-new tool that drives literacy outcomes by listening to students as they read aloud and providing immediate, data-driven feedback.

Focusing on college and career readiness

MajorClarity by Paper helps ensure every student's education leads to a successful career outcome—whether through a 4-year degree or going into the workforce. By connecting career "test-drives" to academic planning and postsecondary decision-making, students can set themselves up for long term success.





New Features: Educational Support System that students' evolving needs

THE PAPER PATH

Paper supports students throughout their entire academic journey to help learners gain confidence for life by turning their struggles into successes. No matter what path a student takes after graduation, Paper can help them succeed in life.

COLLEGE & CAREER READINESS

ACT & SAT Prep College Essay Review MajorClarity by Paper Resume & Cover Letter Review

OPPORTUNITY

Community College Military Trade School University Workforce

SUPPORT

Live Help! Tutoring Writing Review Center

PRACTICE

Paper Reading Paper Missions PaperLive









Investment Summary

Our pricing uses an annual per-student rate for unlimited 24/7 tutoring and access to our Educational Support System (ESS). This rate includes licensing fees, support, ongoing professional development in using Paper, and monthly meetings with your customer success team. We believe in providing education departments, schools, and districts with a pricing model that gives them affordability and predictability in their budgeting.

There is no additional cost for teacher and administrator accounts, implementation (including onboarding of students, parents, guardians, teachers, and administrator)(s), technical assistance staff training fees, or help with marketing plans and materials.

12 Months Pricing: September 21, 2023 - September 20, 2024

Student Licenses	Yearly Price Per Student	District Investment for 12 Months
749	\$55	\$41,195
954	\$52.25	\$49,846

24 Months Pricing: September 21, 2023 - September 20, 2025

Student Licenses	Yearly Price Per Student	Annual Cost	District Investment for 24 Months
749	\$52.50	\$39,322.50	\$78,645
954	\$50	\$47,700	\$95,400

36 Months Pricing: September 21, 2023 - September 20, 2026

Student Licenses	Yearly Price Per Student	Annual Cost	District Investment for 36 Months
749	\$50	\$37,450	\$112,350
954	\$47	\$44,838	\$134,514

 \rightarrow All pricing is in U.S. Dollars (USD).

 \rightarrow

Pricing in this document is valid until June 14, 2023. If you need additional time, we can provide it upon request.

All pricing payments will be exclusive of any tariffs, duties or taxes imposed or levied by any government or governmental agency.

All applicable sales, commercial, or other such taxes will be set out on the applicable invoice. North Boone CUSD 200 shall be liable for payment of all such taxes, however designated, levied or based on North Boone CUSD 200 or its users' possession or use of the Paper Platform including, federal, state, or local sales taxes.



Thank you!

Katy O'Donoghue

Account Manager katherine@paper.co (773) 576 - 1076

